Set B

Test 1 — Pages 21-23

1. 1 mark
all summer
(2b)

2. 1 mark
weakening
(2a)

3. 1 mark for all or most of this
sentence:
A sudden cold wind made Jake shiver.
(2f)
1 mark
The weather changes from sunshine to
a stormy day.
(2h)

4. 1 mark
The darker they are, the quicker the
storm will reach shore.
(2b)

5. 1 mark for both correct

relentless
monstrous

(29)

6. 1 mark for a sensible answer without
supporting evidence, e.g.
“Jake feels upset.”
2 marks for a sensible answer with
supporting evidence, e.g.
*Jake feels upsetl baecause his castle
has collapsed in the storm.”
(2d) |



